PRACTICE TEST : 2019

-20

Time : 3.00 Hrs. SUBJECT : SOCIAL SCIENCE MM : 80
GENERAL INSTRUCTIONS:-" |
1) The question paper has 35 questions. All guestions are compulsory.

2) From serial number (1-20) carries 01 mark.
3) From question number (21-28) carries 03 marks.
4) From question number (29-34) carries 05 marks.
5) Question number 35 is a map question of 6 marks with two parts 35(a) from history (2 marks) and
35(b) from geography (4 marks).
Q.1 What was ‘Young Italy’? : ; 1
(a) Vision of Italy (b) Secret society
(c) National anthem of Italy" (d) None of these
4w gl F41 ar? _
(37)3THT @ TR ()T |ATS,
(TW)FTA FT TSET A (E)zaH A F1S 76T
Q.2 Who destroyed democracy in France? ' : 1
. | (&) Adolf Hitler . (b) Mussolini
“(¢) Napolean Bonaparte (d) Bismarck
wiH & dFdT Y Fae s fFan .
(3N3ETew e () FAIfeED
_ @) Foifergs e @fFEs
Q.3 When did Mahatina Gandhi return to India? - 1
(a) January 1912 (b) January 1914
(c) .]anuafy 1913 (d) January 1915
AEIHT I AR & Iaw ARe? '
(3n)STadr ’eR (@ STl exey
; (F) Sadl 213 (x) SFTad trey
Q.4 Where was Gandhi’s ashram located? 1
(a) Dandi (b) Sabarmati
[(i) Allahabad N (d) Nagpur
el S w1 e FRr Ry g ;
(3n)3iEY ()T
S EGUSEICT (@) arTR
Q.5 . | The paid servants of the E.:st India Com pany was known as: 1
(a) Seth - 25 (b) Mamlatdar
(¢) Gomastha (d) Lambardar
§¥T §R39 el & daa a’nrﬂr aﬂhﬁtﬁ B HF ST °T : :
{3{)1#6 (F) AHATTGR = () AT (a)m:ﬂ'ar
What is G—77‘ '
G-77 Far &?
Q.6 | Who was a ‘Jobber’ ? TR 1
(a) Trusted worker i 3
(¢) Dancer (U;)] :Lliglt:: .
[ (37) freararT Feary @¥ex (@)adF (@) et - ;
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y What does MNC stands for?

OR

MNC &1 [T @17 471 87

a7 | Which image of a God was most commonly used to popularise baby 1,
products?
(3) Ram ' (b) Shiva
(¢) Krishna (d) Hanuman
TTA F FuEl ¥ vOR & [Qv R ¥ Ry & gunr 54 SEar 9r?
AT
(303 (=) R : (F)FeoTr ' © (@)EgHTA
OR
What was silk route?
| W wwb ar are
Q.8 Which one of the following type of resource is iron ore? 1
(a) Renewable : ' (b) Biotic
() Flow (d) Non-renewable
AT I | ave 1 qwyeT 87 3 ;
(3naeRoi (@)sifa=w (@wae () =T
Q.9. | Rabi crops ave sown in: 1
(a) winters . (b) monsoon
(¢) summers (d) none of these

. | (nzar A7 (E)HAAHA (wymt & (@)1 & F§ TE

Q.10 | Which of the following is a mineral? 1

| ! (a) Diamond (b) Tale . ;

5 (c) Mica (d) All of these .

.,! T ¥ @l o @ieer 87 :

f (3R ()3T () 3781 @)Tsh
Which of the following country is the largest producer of jute in the 1
world? :

(a) India ' (b) Pakistan

(¢) Bangladesh : (d) Nepal

Faw # ST F gIH G ICEE e i @ 87 : _

(31)3Xd (&) TrfeEaET (WP ()T

“[Which of the following is a mineral based product?

(a) Woollen (b) Tea

(c) Cotton : . (d) Cement

e 3 wiler @foer JruIRa 50978 87 _ :

(37) 5T (=) (®) Fr aE T (%) ¥

Which language’is dominantly spoken in Belgium? AT,

(a) Dutch _ (b) Spanish

() French : : ; dhi (d) Italian

W#s@ﬁtaﬁmmﬁmmmh : ; iz

(s ‘ (@ ¥ () ) safawe

— .. listincludes subjects of national importance such as defence of the

: country, foreign affairs cte. :

:’ é‘erﬁwﬁﬁ"‘fﬁmmarﬁw ...................... PR oL T #F anfarer

." I el > il o3 2 '

| ——fFvory party in the country has to register within the............

'O 15 F g ;

e}

and ....eeane. .

Ttical party has coniponents Hke oot wsiiness
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A

B list includes subjects of national importance such as defence of the
countrey, foreign afthirs ete.

der & ypwr, fder oy i aper F R e Y A anfrer
.-"\’"_F’-f"-l

Q.15 | Every party in the country has to register within e .

AU WM A B e 3 qolgar a@r B 4| e e

Q.16 | A politieal party has components like VT, Prererr R
L S S | j

Q17 | BMI stands for ..wee. ,
W QU AH - ' . MJ
unication and banking come under. ... sector, N E

Q.18 [ Transport, comm
R £ 11 1 RO . O [ ¥l —
ods were exchanged without using money is belter 1

(b) exchange system
(d) no-maoney syslem

Q.19 | Asystem where go
known as
(a) goods system

(¢) barter system :

ag swan Rt aeqd Re uer 1 s R ae s ¥

(30)aeq T (fafaay sgaer
(@) Ry T sTaer | iz

(H)aET cga&T
Deposits in bank accounts withdrawn on demand are called ......... .

Q.20
" | g5 @@ A S W AT F AGER PEET ST dwar ¢ TE
Q.21 | Discuss the purpose of Rio de Janeiro Ear-ti;:r._ummit and Agenda-21. . 3
ftﬁﬁﬁﬂﬂr{tﬂtmaﬂruﬁa—mﬂ;mﬂaﬁmmﬂy -
nk that solar energy has a brightufulure in Indla? 3
it 35 #1 wRsT 3o g
f Vienna (1815) on European people? Write any

Q.22 ' | Why do you thi
AT HTAHT FITar & 1 R H
Q.23 | What was the impact of treaty o
three points. : .
R Ry 1 AT & Al o Fr yane gamaé die g fa) i '
Explain the three causes of great depresslon. - jE
it AEHE & @ T FRoT o | |
g Oor :

Why did women workers in Britain attacked the S
?ﬁ?ﬁnﬁmmﬁﬁ#f@qﬁﬁdﬂwpmﬂm; |

s and services that one needs to live well. Explain. 3

gt @Oy o wwel @ R @ el o WwA F

Q.24

pinnfngiennv?

q Money cannot buy all the good

Q.25
$r ¥ ap @l awqgy IR JaC

e weT gt & Jersar #1
3

Why do we need to expand formal sources of credit in India? Explaln any three

Q26
reaso_ns._
m#m*ﬁmmﬁﬁmﬁaﬁw%ﬁhﬂﬂmﬁm[

elationship between the Sinhala and the

Q.27 | Explain any three reasons for strained r
Tamil communities. _ -
mﬁﬁaﬁtaﬁwmﬁmaﬂmqﬁﬁxmmmmm

Rat] L . i

3

How have the centre-state relations been restructured to strengthen federalism?.

|azs :
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!]H 029 | Suggestthe Tnitiatives taken by the government to ensure the increase in

;l agricultural production.
1 wamxmmwmmmﬁmmw
| tion Movement started in 19207 Why did Gandhiji call off

"~ 2n | why was Non-Coopera
the movement in 19227 : 1
:mﬁmmmﬁﬁﬁﬁ*'“‘*mﬂﬁ
-

i
srganT IR 1930 A
| s W i |
(.31 | Explain how public sector contributes to the economic Jevelopment of 2 nation.
' Wﬁmﬁ*ﬁ?ﬁrﬂmhmw&wmmmmml
yan important rolein controlling the formal

Q.32 I How does Reserve Bank of India pla
E sector loans? Explain.
+ ey B|TEAT )

| ford ﬁmmmmta{vﬁwﬁ«._
ake India @ secular country

ir_‘jl-_Bs’_ “Mention the constitutional provisions that m PR

_ Explain merits and demerits of multi-party system.

iaaa?ﬁﬂqaﬁé?qvﬁaﬂtmvffﬁarmm]

2 mark the following places.

Q34

| I
"0.35( | Onthe given map of Indi
peasant satyagraha took placein Bihar.

' a) ' (i)A place where the
. (ii) A place associated with the cotton mill workers, satyagrah.
| s & R e ARy «) e we & @
(0)fER # Rrae A F T :

() |ell FIT azir ¥ AGEU & FearE & gHatad ¥

qraaa el |

On the givén map of India mark the following places.
(i) Software technology park in Maharashtra.

(ii) Bokaro steel plant

(iii)Oil field in Mumbai High

(iv) Tuticorin thermal power plant
mma:ﬁ-wmnmﬁiqrﬁ’mrwm’fa‘rmm
o 3 afeedu dwdE T '

"Q.35(
b)
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1) (b) Seerel society

2) (¢) Napolean Bonaparte

3) (D) dunuary 1915

4) () Sabarmati

5) (¢) Gomastha  OR

6) () 'Tvusted worker  OR Multi National Carporations

7)  (¢) Krishna

8) (d) Non-renewnble

9) (n)winters

10) (1) All of these

11) (¢) Bangladesh

12) (d) Cement

13) (a) Dutch

14) UNION LIST

15) BLECTION COMMISSION

16) LEADERS,ACTIVE MEMBERS,FOLLOWERS

17) BODY MASS INDEX

18) TERTIARY

19) (c) barter system

20) DEMAND DEPOSITS

21) The Rio De Janelro summit was held to address environmental problems and socio economic
development at global level . and during this summit agenda 21 was also adopted. Agenda 21 is
a declaration signed by world leaders to prevent environmental damages,poverty ,diseases etc.
through global cooperation

22) Solar energy is an inexhaustible source of energy produced from sunlight. ... It has bright future
in India because (a) Many parts (regions) of the country received sunlight on 300 days annually
and so it becomes possible to generate 20 MW solar energy per square kilometer in such areas.

23) The Congress of Vienna was an International congress aiming to restore peace and to
restructure Europe, which was in a mess after almost two centennaries of war and the
monomanic attempts of Napoleon to conquer Europe. It was a quest for a balance of powers, so
that future wars and revolutions could be prevented

24) The causes of the Great Depression included the stock market crash of 1929, bank fallures,
and a drought that lasted throughout the 1930s. During this time, the nation faced high
unemployment, people lost their homes and possessions, and nearly half of American banks
closed
Or
Women workers in Britain attacked the Spinning Jenny because it speeded up the spinning
process, and consequently, reduced labour demand. This caused a valid fear of unemployment
among women working in the woollen industry. Till date, they had survived on hand spinning,
but this was placed in peril by the new machine.
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25) Money cannot buy all the goods and services that a person may need to live well. ... For
example, normally, money cannot buy a pollution-free environment or ensure that a person
gets unadulterated medicines, unless a person can afford to shift to a community that already
has all these things.

26) We need formal sources of credit in order to reduce the dependence of farmers on informal
sources of credit like money lenders. To reduce the higher risk associated with informal sources
of credit because of fluctuating terms and conditions. To avail cheaper credit to farmers in rural

areas

27) The Sri Lankan Civil War was a civil war fought on the island of Sri Lanka.
Beginning on 23 July 1983, there was an intermittent insurgency against the government by the
Liberation Tigers of Tamil Eelam (the LTTE, also known as the Tamil Tigers), which_ fought to
create an independent Tamil state called Tamil Eelam in the north and the east of the island.
After a 26-year military campaign, the Sri Lankan military defeated the Tamil Tigers in May
2009, bringing the civil war to an end X

For over 25 years, the war caused significant hardships for the population, environment and the
economy of the country, with an initial estimated 80,000-100,000 people killed during its
course. In 2013, the UN panel estimated additional deaths during the last phase of the war:
"Around 40,000 died while other independent reports estimated the number of civilians dead to
exceed 100,000." During the early part of the conflict, the Sri Lankan forces attempted to retake
the areas captured by the LTTE. The tactics employed by the Liberation Tigers of Tamil Eelam
against the actions of Government forces resulted in their listing as a terrorist organisation in 32
countries, including the United States, India, Canada and the member nations of the European
Union. The Sri Lankan government forces have also been accused of human rights abuses,
systematic impunity for serious human rights violations, lack of respect for habeas corpus in
arbitrary detentions, and forced disappearances

28) The center-state relations was given special attention. The Constitution has three list - Union List,
State List and Concurrent list - which clearly define the power sharing between the center and the state
governments. It helps in federalism. ... This has strengthen the federalism in India

29) Various initiatives taken by the government to ensure the increase in agricultural production are:
- Collectivisation, consolidation of holdings, cooperation and abolition of Zamindari etc. were given
priority to bring about institutional reforms in the country after independence.

- Land Reform was the main focus of our ‘First Five Year Plan’.

-> The Green Revolution was based on the use of package technology and the White Revolution were
some of the strategies initiated to improve the Indian agriculture.

= Minimum Support Price policy, provision for crop insurance, subsidy on agricultural inputs and
resources such as power and fertilizers, Grameen Banks, Kissan Credit Card and Personal Accident
Insurance Scheme are also some of the reforms bought by Indian Government

30) Mahatma Gandhi declared that the main objectives of the non cooperation movement were : To
cripple the British administration and make them realize that they cannot function without the actual

support of the Indians. To avenge the wrong done by the Government in Punjab (Jallianwala Bagh
Massacre) in a non violent way

Non Cooperation Movement was called off because of Chauri-Chaura Incident. ... He wished the
movement to be violent free, and with the violence being stuck at chauri chaura, Gandhi had no other
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option than to call of Non Cooperation Movement. This was supposed to be the driving force of Non
Cooperation Movement

31) In the following ways, Public Sector contributes to the economic development of a nation. (i) It
promotes rapid economic development through creation and expression of infrastructure. (ii) It creates

employment opportunities. ... {iv) It ensures equality of income, wealth and thus a balanced regional
development.

32) The Reserve Bank of India supervises the functioning of formal sources of loans. It does that
in the following ways:

# The RBI monitors that the banks actually maintain a minimum cash balance out of the deposits
they receive.

# RBI ensures that the banks give loans not just to profit making business and traders but also 0
small cultivators, small-scale industries, small borrowers etc.

# Periodically banks have to submit information to the RBI on how much they are lending to
whom at what interest rates.

# RBI can pull up any banks if it is flouting the norms and regulations related to lending ot Joam
33) A secular nation is a nation in which religion is practiced freely and which is provided for by
the constitution1. The fundamental Rights and the freedom of religion .

Indian constitution provides for freedom of religion where an individual can choose , practice
and worship without dictate of any other citizen

2 Under the Cultural and Education rights the Indian Constitution once a'gain prohibits the
discrimination against one religion3. Right to Human live. The constitution prpwdcs the section
which protects each and every individuals life and can freely express their desire to any religion

of their choice

34) Advantages of Multi- party system: It is democracy at its best. In a democratic country,
any person or a group have the freedom to form their own political party.

It enhances electoral transparency. Further governments in multi-party systems are
responsive and accountable to the needs of the people.

For a vast and socio diverse country, multi-party system is best as it represents the voices and
opinions of each section of the society.

This system ensures a healthy competition among different parties and prevents the
dictatorship of a single party thereby providing chances for the growth of the nation.

Disadvantages

In multi- party system, the country may face political instability due to the presence of several
political parties. The country may experience ‘hung Parliament’ number of times.

The introduction and implementation of a policy or decision may take much time due to the
discussions and deliberations of various political parties.

The regional parties may work for the development of particular region or for the growth of
a linguistic or a religious group only ignoring the larger interest of the other sections of society.

[t may lead to corruption
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